wod Apnysqasq mma//:dny

a

LA

http://www.bsebstudy.com

S Code: ‘ 1 1 8 !
NUAL)
NTERMEDIATE EXAMINAT, 2018 (AN
ON
CHEMISTRY
e 16
I = @ v 5 I.Se. et e Y A s y
t?__tt' Mo o1 Questions: 53 mu:l No. of printed PI;'I:" o)
w3 AR 3 & R \
\ - IMnrksz 70]

{TI.""@ 0\\‘"‘\. 13&[1 N] . __

S o

o

J'crrhocandmu»:
S e e e d o I .

T T 5T I 2 @ g 2
Ca .
1-:3.1'(—?'3"9 N.'BJ."\,\'S' e .!"S“‘.\} -.qw o
T G TR o OWn
N L S \-\ L-."I‘{—"—x \_:)t‘ﬂ‘r
wd -~ . l ."
-.-‘1:.--1\,-_; e g hang 2PN ndicate fuf marks
VTV ST OAT vt JUTGwT "_"-i"f;—' 7 8¥ny hig
Whi 1\\ Lt s g yachcaoe.
Vh ‘53"*“9“'?“\9&1:5%%@ CANTEN ST achherg &2 N WD asfa 1;.’02?»
¥E 5 05 & sooeE oo @ 2 15 e &y R T T T E
L] - b L~ Hh .
SAr wWEs o entm e Aas w SRomad 7 the ca ithe qu't’\fk‘"b carefully
NS ¥ (7 TS v

-
-SO..BS‘&. msa\mr 0 two =2y %m f ‘. '-
" ey & 0 - \T%‘ * Y
o—\t-";‘( } t.’:i “]
a@ .” .Ulq g 'l"" U\;: \"H"hu w4 v w

A 2 = o T ¥

F‘?“:T&e OHR ,ﬁg_—}“ww-*er §
@W*W/mm/é;/wmk Ww#mmmﬂ
ST GO TR S BT

i1 Section - A there are 35 objective type questions wach are comoulsory. each camying 1 mark.
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in Section - B, there are 15 short answer type questions (each carrying 2 marks), out of which
any 10 questions are to be answered. Apart from this, there are 3 Long Answer Type questions
(Each Carrying 5 marks). Each question has an altemate option.
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ah N g ue-)
Rt ov warr # %77 P vty W 3 g oar ) B T &1 737 ey
® W0 oy owre gz 4 AT PV (35X1=35)

. os. 1 .
In the following guestion M * 10 35 thepe IS only one correct answer against each

Question. For each q,,(sﬂﬂn, Mark the answer

the correct option on
sheer. : (35x1=35)
AT veirgs @ ey 97 7T R Ry A R gere v s W gfawd 8-
(A) F, Na (B) F, H,

(C) 0Oy Na (D) 0, H,

A dilute aqueous Solution of Sodium flyerige IS electrolysed: the products at the
anode and cathode are -

(A) F,, Na (B) F,, H,

(C) 05, Na . (D) 0, H,

C: 3 4 o 3R 7 qwa A G -

(A) lo 3R Ix (B) lo 3R 27
(C) R 2n (D) lo 3R 3%
Number of 6 and 7 bonds in Cimolecule is/are-

(A) loandIrm (B) loand2n

(C) 2monly * (D) loand 3n
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3. Ny wrEivEm B = @ aw Br-

>—cu=cn,q [>—an=cn-cn

g

[>— c=cH,am
N
(A) I<ll<ll ¢
B Ticll i
(© lI<lll<ll (D) I<j

Rate of hydration in aqueous acid will be in the o

0
[>—cH=CcH,m >—cn=cu-ct!

iy
[>-— C=CH, (II)
(A) I<l<II (B) llI<ll“‘
(C) I<l<Il (D) nep
4. fr ary o1 Rya syl = @7
(A) NF, _(B) BF,
(C) cro, (D) CH,Cl:
The molecule which has zero dipole moment is -
(A) NF, (B) BF,
(C) ceo, (D) CH,Ct,
5. LiCt,NaCf 3R KC¢ zﬁﬁmﬂmmaﬂmm@wﬁwﬂ“ﬁﬂg'
(A) LiCf > NaCf > KCf (B) KC/>NaCl > LiCf
(’é) NaCrf > KCf > LiCf (D) LiC/ >KCf > NaCr
The correct order of equivalent conductance al infinite dilution of LiC!.NﬂC‘ and
KC¢ is-
(A) LiCt > NaCf > KCf (B) KCf>Nacr > Lice
(C) NaCt>KCt> LiCt (D) LiCf> Koy s NaCe
e —
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. (B) R
o " e,
(! LOUY § .
' (v \mf H 'Pin thiy reaction js -
Mo 1 B) R
{ l 1 .
; “H,ll- . (D) CH,
N (" fz‘flfl 89 gy B-
\f \ i -
(! ' HTI\‘”J (B) H, Sik,
o™ (D) H,SiF,
(Al " F e it feacts with hydrogen fluoride is
0 H:ﬁ_llﬂma‘“td“ (B) HzSiF6 -
e (D) H,SiF,
) 5[]’1 2
?1 p; Sifs mgﬂﬂzﬁq; T 274 1 9 Rvre e 3
(N0 (B) 87%
, [III,\I B’L )
§ ) 9135 (D) 74%
1!
- & 0.IM Ba(NO solution i
lri] fn': Hoffs 13" of (NO,),  solution is 2.74. The degree of
4
gissociaton 8 (B) 87%
_ G
A (D) 74%
(C) 1% :
- ?
(4) Sn (B) " Ag
(C) Fe . ' (D) | Pb
Which of the following has the most stable +2 oxidation state?
(A) Sn (B) Ag
(C) Fe (D) pb
10. f
P 44 s gl
{-1 - N -
o . @ NN
gLl | C et R [P CLT A
The compound pay, (D) NiCHd [ )
(A) [NiCrp 8 ey geometry is -
© [Pacy ®) [Ni (CN)I” )
[118] (D) [NiCty* and [PACL both
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(A) RUERIRS i3 ot
(O Mfeewmgs

The can

“)1 ‘%L"

MZZaro's reaction is not Riven by .

(A) Fomm\dchyde (B) Acetal jehyde
(C) Benzaldehyde

12. ¥R TR PR wfifrn & s 2

(A) [A] B) (41| /
_ \

(D) Furfy;al

t- L=
C) _[A] D) (A
© ~\ ( L/
t— L=

Which represents a zero order reaction?

(A) [A] t B) (Al | i

t— t—
© [a] \\ @ @ E
t— t—

13, 5 N &1 JqUET aREA @ R F4Q IR D {2
(A) CO " (B) NH,

(C) NCl, gym

Which gas is absorbed strongly by charcoal?

(A) CO (B) NH,
(C) NCs (‘?l__‘_*j
[118] Page 54410

http://www.bsebstudy.com

[Tum over

woo Apnisqasq-mmm//:dny



wod Apnysqasq mma//:dny

http://www.bsebstudy.com

H 2
14 Ay YN oguer a @ | ‘W"Wﬂ%ﬁm:mﬂmwmmma_m

15.

Jit

afdfym o) wfe ¢ -
(A) ! B) 2

(©) 3 -(D) 0

‘ me :
e 9% k[H']" and rat¢ bec®TES 100 times when pH changes from 2 to 1. the order

ol reaction is -

(A) 1 (B) 2

(C) 3 (D) 0

Waw g @ aga 0d ¥ TRE gorasm 400 ohm' ecm’ eqvt’.
quawm 8§ x 10° ohm ' cm ' f BaSO, F Kgp & -

(A) 4x10*M’ : (B)-10* M’

(€) 2x10*M’ (D) 10*™m°

Equivalent conductance of saturated BaSO, is 400 ohm' cm’ cqvl" and specific

av Rfe

conductance is 8 x 10 * ohm '«m ' The Ky of BaSO, is -

(A) 4x10°M’ ~(B) 10°M°
(©) 2x10*'M’ (D) 10°*M°
16. & ®dfe Mfe st dta m R i Pran AfveRE & w N wEmere
Sra (}Fﬂbltﬁ zm?ﬁ}:g— o v ?
(A) CH;-CHO (B) CH,-C-CH,
CH, ~_
(C) CH,-CH,OH (D ' “CH—OH
')/CH, —
An organic compound gives iodoform test and also gives positive test with Tollens
rcagent. The compound is - Q
(A) CH;-CHO (8) CH,-C-CH,
() CH;-CH,OH (D) CH, \CH—OH
CH, —
\
)
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17 Hy (P CL) @1 TUPAC «am @
(A) ETEES B asna afeae (1v)
(B) FIGETAL Bam aeidy afde (11
‘(:,’, _EWEHIGE R #efgd) PL(IV)
(D) TIEQGE Bwn aadvag®) P ()| )
IUPAC name of H, [PLCl) is -
(A) Hydrogen hexachloro platinate (1V)
(B) Hydrogen hexachloro platinate (11)
(C) Hydrogen hexa chlorido P1(1V)
(D) Hydrogen hexa chlondo Pt (1f)

18. wayfes aciwgs sedfrm A vffdm @ g Jd 4N 8 THA @Ay

AIA 8-
(A) HgCl,. 2 NH;, (B) Hg(NH): €L
(C)—Hg (NH,) C(, (D) Hg (N Ol

Mercuric chloride reacts with ammonia gas and forms while precipitate, The

molecular formula of white precipitate is -

wod Apnysqasq mma//:dny

(A) HgCl. 2 NH, (B) Hg{NHH:f:(;
(C) Hg (NHy) Ciy (D) Hg(NH.) Cl
(9. a1 pergetargs R SN? srare fpafaRy o w4 4l 4
CH, ..
(A)-CH;- CHz-X ®) g M—X
" (C) (CHy),C-X (D) CeHs-CH,X

Which alkyl halide follows only SN? hydrolysis mechanism?

CH,
(A) CH;-CHy-X ®) ) CH—X

".*(f
(C) (CH;);C-X (D) CeHi-CH X

(18] paos 7 e
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20.
=N s {0 a1+ v,

T
Wi @ ant GWW RYare o) argan @ A &N okl

i af
T 10 R @ g @) gryetar W 100 drey @ anar B o o U

vt T § @

a1 U 1o

2,303

@ =20 B 2 e 5.0
10 10

N 2303 2,303

(€ === log 2.0 D) = log 4V
T { 10

@— (“ @—(I%\

ol concentration of reactant. After 10 minll!q

Half-life of this reaction 18 independent

ce and after complete reaction 100 litre. The rate constan

volume of Ny gas s 10 ht

the reaction in min " unit is-

> 303 2,303 X
A\ = 30, B log 5.0
10 10
‘ : " :b:‘t}.‘
() =. 3 log 2.0 (I ’ log 4.0
10 - 10

S1 o Fe (OH), it A NaCi @1 918 fraran o & o
(A) [Fe(On,)] e e €7 "1 B [FelOMy)]C
(C) [Fe(OH,)] Na* urt €10 Pl (D) Fe(OH), srmefaa g oiidn
When NaCl solution s ydded W Fe (OH), colloidal solution then-
(A) [FelOn,)] Fe ™ is formed (B) [Fe(OH,)]C/ is formed

) [Fe(OH )] Na’ .sr'unncd (D) Fe(OH), is coagulated
22 r?f:n}r“m e dfe & 15EE STRET I HaH sfow 2

A [cr(H.0)]" (B> [Fe(H,0),]C’ . ,
[Fe(CNL]* (D) [Ni(cOl,]
Which complex has maximum paramagnetic moment value amongst the following -

(B) [Fe(H.0),]C/.

g g 2

(A) [cr(H.0)]"
[Fe(CNL]* (D) Ni (cOl,]
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1 [ ﬁ )
23 preferfet 3 i TR Sy By e yen &7
<y NaC ¢ (B) NH‘
e ] (D
which of the followmg gives el ) KI Late with alkaline Nessler's
3 s
reagent? oW or brown pf*
(A) CO; (B
) NH
(C) NaCft )
(D] Kl
24, @ (MR = 342) B e
4, TR S%Wu}awxlflg‘m?t\'mmh (X =
AR B
(A) 68.4 (_13)—-'34_2
(C) 171.2 ©) 13,
A 5% solution of cane sugar (Mol. W ayn) 18 isotonic with 1% solution of
substance X. The molecular weight of X is - http://www.bsebstudy.com
(A) 0684 B) M)
(C)y 1712 (D) 1%
25. HO—@—OH = 0-"'-@0.3.;-,2& g =130y pH=2 W RS
fra 8-
(A) 136V (B) 130V
(C) 142V D120V
H0—®—OH = 0=®0 o3 - 2e E =130V _AtpH=2, Electrod
potential is -
(A) 136V (B) 130V
() 142V (D) 120V
16 (Tum ow
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oM gz 3 uf
2‘1. QtT' ir-T-lT-‘{-!i I’nIﬁJ. ‘ 1{“‘,* &h ad”” l"h" .‘. 'W” uItt' ul"‘“‘l" uuh'l
ot
NaOH A et B R >
(A) R-NHL g NN
R ) ll" of “‘C\c
() R NN
An ()tg;lnit‘ L.mn;'imm* ul"d is . U|[un}| chlonde and product dissolveg in
aqueous Na OH The ¢ (B) R Now
(A) R-NII, R~ W0
)
R L
(C) R >N wh
R T
27, v hfnm warma & T MR g
(A) YAz (B targs
(C) mnags LML L g
ol L
A compound on hydrolysi* £ dMine The compound s
(A) amhde L] atmade
(C)  cvamide (D) None
0o 0
” P / Ba SO :
, e ., N/ BaSOy |
¥ R=C-x T . R = C—Menx ur ufdm arad
(A) #ha utatd.m (B) e ufyfam
(C)  Oulasvg gidtdm (D) tewan giatdm

0
1

R— C—x “‘ l'dih’il '
A= R — ¢~ HeHxThis reaction 1s known as -

A

() Stephen’s reaction (B) Canmizzaro's reaction

(CV Rosenmung's rCachon

(D) Hinsberg's reaction
[11g)
Pace 10 1€
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2 A A
ot AN Hay o
- ‘ o Oh
14

W' "
(N ‘ oy L.
wik ui}
O o
1\%"““*‘"" ob free spuce " beg oy,
VY ) nilc
NER Sl
v . (1)
o N% 3
\ B T Yy ) oo,
rp G I ) ,
|\ m“ﬁ‘l’q ( nmg;ﬂmﬂﬂiﬁﬁ"\ﬂq
S htp\ Hy ! "
(A) 12 ( '
B) ,
€y 4 L
' D ¢

The co-ordmation number of Metg) ponal close packed (hep)
Vis - Yl , o WOHE
dructure 18 g !

(A) 12

(B)
€ 4 ®) 6
Pyt 3 @ v sRfara 2-
J ) P e Wiy o g TR ST ?
0
(A) L (B) I
CH,-C-CH, CH,~C.y
1-" -
0 0
(C) i D) W
CH,-C-CH, CéHy-C-c M,
Which of the following compound is most reactive 1owards nuclcophilic addition?
0 0
(A) \ (B) i
CH,-C-CH, CH,-C=R
0 0
(C) I (D) W
CH,-C-CH, CH,-C-CH,
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J’T'l I\l mﬁi‘ 0

o e f; sird ¥ (B \]uh-ﬂ \“rTE‘TI qrq E‘ljﬂ ﬁ e \juh-ﬂ “]1“-‘1 ’
) Cu, | h
I.'\l '[.li I +
-,
() Cuy SO; M tre :
et Alm
» I l[l c [ 4 .
Copper sulphate lu _nl With excess of Kl gives whitish precipitg,
[he precipitate "
{ .
(A) Cul ! Cu,
(D
(Cy Cu; S0, Hk
B flu 11 aﬂ.“‘“ ?
-~ (B
(A} ) 45
() . #3 0 ‘D' T.‘ 'r!‘T
Mot stable oxid b“n""h s
(A} 41 ‘Bl «5
it " '\_|I'|'| . { ‘.f ID' \l'lm
™ )
f=- @ am g -y L TR U T MR e R
{iA) NaN() (b CuiNO,).
Cy Ba(NO D) Hz (NO.».
W 1IN m.u‘ LL 4] lml [k‘"n]r"}\”l”" 1
A} NaNi) (B) Ca(NO,),
() Ha(NO DI Hg(NO,),
o WA gy st wewadn ding nm KR
\) |} B) bep e frvegs Wk
v hep ST D) bee i hep
Whch ol ums of structures are (e
u . -
. | ahedral as wel) ag octahedral
A b

(Bi hep and simple cubic

Page 12 of 18
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qs - (’N-m% )

5ECT|0N -B (Non - Oblﬁt.‘;llv‘ q oueglIOﬂ')
e
(@ Ioa 7E) (Short Answg, Tw ouc.ﬂonﬂ

o qurstinns:-

.rr“lﬂ"' .
) i - 1+1=2)
=
E-; gﬂﬂs fpra @ ufvnfia w9 (1+
«1.. S
clectrode and clectrode potential. :
yetne ¢ - ‘
b L R | NC(, @ frfo Fwm & T g, o PCH sty PCls i
a @
o B |
= lain.
oge o forms only NCl, but phosphorous form, pCls and PCls both. Exp7 "
N
ﬁmaﬁﬁwmgﬂmmmwmﬁﬁmﬁﬂ "
o -yolatile so
ny does vapour pressure of a liquid decrease yjth addition of a non-vol
Wwhy ;
.solult‘q @
e @ T T P ¥ TH AR & w7
4 IR
- Electron affinity of nitrogen is less than Carbon, Why?
. p. g, P- ﬁmﬁﬁﬁaaaﬁmmmmﬂ? 2)
p. Nitrophenol is more acidic than P-methyl phmol Why"
6 CHg —= B e
FeCly,A AlCl,
(A] 3R [B) & AP AR HXEA ford
Cl CH,-Cl
CeHe —2——[al —3 — 58
FeCly.A AlCl,
Write the name and structure of [A] and [B].
[1 1 B] Page 130l 16 [Turn over
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o %'fvm
{I*'l:z}

#i e ‘Illl% Hﬁfﬁ man g e

el ol g LY
1m'3'~ e .
3 I Qf}qmrﬂ *1) “+l:—'21

Bt 0 itz 3 fafrm a3 AT

g & e l‘eacl
. -pu on i of the
ol 1S 10 .onstant
) minutes. Calculate the rate ¢

ﬂ{i ﬁq-{ -2
b ¥ W’I gfiad=a &1 Ui @ | “Hﬂ'

ﬁﬁﬂ ad T ._h“
ges when 0
el ﬁ'ﬂ a gas is adsorbed on & soli
A’ @

(1+1=2)

. gm’mmﬂ"
, Cut l"‘

“} I"L+(.,U
v, (] ___,_]‘ﬂ *Cli

iy 2Fc *- e ol
clectne cells s fof lowmg reactions -

) Ic+{u'"‘(“”‘c .

1(|~4J‘L +Ch
s S Ry @ orafs AR 42 S+

Construct

(11) ﬂlt

fafrt e +
(2)

qm?
Silicon shows only +4 0x21i0D state but tin shows both

both. Why
apitfaan A @ HHd sdma CuSO,

Write the chemical reaction UfikH; gas with aqueous CuSO; an

respectively.

" HL HF @ afdad 3 2| e B
Hl is stronger acid than HF. Explain.
gl & argeT @ AR @ o W

Describe method of nitration of benzene.

+2 and +4 oxidation states

#R AgNO, o & @ gfafe i) (141=2)
d AgNO; solutions

(1+1 =2)

(2)

- ——
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|
Lona Answer Tyng g yon
Y gy .
o W B T fye ™ e
Answer all the three questions.:.

e B TR B iy oty afe anf g 76 ed

16. - J—
A T“I vl ‘ﬂﬁi‘ﬁm * (4&[-‘-‘5'
Descnibe the Kineties of a first order rencty . a first order 1 action nEver
completed? on, wny
THLLoR {10
e s A SRS St 80K) mol! & v mw»ﬂ St Tmf 40 x 107 @
gfret @ @ wRfbm &1 a1 Reriw 400k @ 1
For a chemical reaction the energy of dclwu“m,l S(]k] mol ™. lI frequency factor s
4.0x 10" Lmol'. What is rate constant at ‘“’“k? 2 .
17. Prafafed #§ 3R We $ & fog ita /i a\ ﬁ_‘@“ (1...1_+1+1+1=5)
/m ;.vhra ik Reafegs
._,./
(i) _farite sir waifeafas s N
“W IR e
(iy/ﬁﬁzﬁ e AR R st

(v) WAl Joved w R e

Write the test by which following are distinguished:
(i) Ethanol and Acetaldehyde

(i) Phenol and carboxylic acid

(ii1) Aldehyde and Ketone

(iv) Formic acid and acetic acid

(v) Primary, secondary and tertiary alcohols

[1 18] l;-'aga150116 [rurm ovel
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24+ 2/2z=5)
Ay ulrte

(i) R - mym: -
M ' &

Write the follov ing it

(i) Hoffmann ISE

(ii) Clemmensen s i .-:_;,-_-1 Y 1 Ketone

1 o
nyma%zr@m*“. W@%mmﬁwﬁ

27 |
vrites”

' ! Hiowwe i ) rp
What arc the important o/ " How is copper extracted from cOppe P]’)

grer & wiafd (2+3=5)
& P

(i) @& s .\'.IL)HI
(i) Eew o Zna, A4
What happens when -
(i) Chlorine gas reacts with

(if)  Nitric acil reacts v o/ w1 different concentrations.

-
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